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(3 Hours)

- [TotalMarks: 80]
B. : 1) Question No. 1 is Compulsory. B e “

2) Answer any THREE questions from Q.2 to Q.6.

.

3) Figures to the right indicate full marks.

Q.1 (a) If A isei gen value of 4 and X is corresp'Qndmg eIgen vector -” -.

(b) Evaluate J' 2 ~2z+4

: dz, where C l.1s 'Zh.... 1 l = , |
c 2z -1 Col N

(c) Find the extremals of _[(1« + x y ) y dx < & (5)
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diagonalizable. Also find diagonal and (8)

[Turnover]
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2 Verify Cayley Hamilton Theorem for A=|—1 3 0. AlsoﬁndA“' g
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Using Cauchy’s Residue Theorem evaluate J' 3 2 9
+ cos P

(c)

X3
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(b)  Find an orthonormal basls for the subspace af R be '
process where S = {(1 % 1) (-— I,l 9) (1 als 1)} \ ' A |
(c) Reduce the followmg quadratic form mm cannnandhenceﬁnd its

rank, index, Slgnature and V&lue ciass
Q=5x] + 26x2 + 10x3 e 63:1 Ji:2 * 4x2

Schmidt

Q.6
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